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WORD PROBLEMS

EXAMPLE 9 Henu has 105 songs on her computer. Her friend
gives her a CD consisting of 78 songs. If Henu
copies. the songs from the CD to her-computer,
lhow many songs will Henu have on her computer?

Number of songs on computer = 105
Number of songs on CD =78

Total number of songs on computer = 105 + 78

) ANS. Henu'’s éomputer will ha\’/e‘183 songs in all.
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EXERCISE 2.6

A. Solve these word problems.

1. A vegetable seller earned ¥ 485 on Monday and

¥ 649 on Tuesday. How much did he earn on these
two days? ‘ ‘ | ' ’

Earning on Monday = 2 bw $
Earning on Tuesday = 25t
Eaming on both the days = =12t 4+ =
<) ANS. The vegetable seller earned ¥ || ~ -
2. There are 1572 students in the primary wing of a =

school and_"849 students in the middle wing.
How many students are there in the school?

Students in the primary wing = [ § 1! 9
Students in the middle wing = _ & 49

Total number of students = 1570+ 349 +ﬂ€ <+ 9
2 ANS. There are 3t 2 | students in the school. s\‘f.‘)\ |
B. Solve these word problems.
I. On Monda

¥» Reena saw 24 butterflies on one bush and

32 butterflies on another bush. How many butterflies did %
Reena see in all? '

e 09 %)
ae



~Nuwmber: »of bLLH_e.n:ELLe& - .E)
= b =

_QQ__D;D.L__JO_LQA—,
N Wwmben of buedden Auos +

Qen _anadhey bbb =

2984

=

Tad al N mbe n &Fbuﬁenﬁhu = &4

\p A \

&MA

Neemhox D:E po QPL) .

m‘&n‘bmmﬁ_kmz& = 412 4

Numkoﬁ > pepple ‘

_ L
J ?ﬁ nnn&&pncnm&&mm‘dfiu__#

V223 77

184&) n;um)oemai Dem:d@ o bb&hccnpaﬂ:}_m.uiﬁ_

=] 9 e l[')-'— X 22

_.&Nﬁ;—} Tlent Qred| A2 penple . Iny bfoc}h Hao

Compoand monds | of | “dho. dredle

@N ggl ﬁ (;;\\
Numjam__tﬂ_mrlk piekeds o0 o ddary = \gj [l
"l\lnmhoﬂ ErF MOt Q DM!(OJ—& debive rre 4 K.l._'_ T 9_9 '."L

| Tﬁ%a/? nwﬂloen bf w\k DL kok - 6<p + 397 JH—I

1—% 'I'Larro a9 Cl4-l DO.,LKO,J‘{ 7?‘( m,([k m M\Y AIDIT'Q

@ ¢

; §9¢u4!*f‘m ’;};- i [ | | { \ U
N umherm m«f _bp - K g;c:

Numbon ot o fula '\”56‘2}\_
1 A2 T

Tvﬁ@)q ’hmm\oon‘%f &hp({fu;&—@ — B 1S = G462

=147

A-mx_). \4—3’;{— &l—uap,zﬂ—\ WRe Dnrpswj\i (ntH\Q

. 3

gehred on diad doty-




Sbthmhq\ e

Number D@' PQ,V]M],L .n_a-box :"%

Numl'wr( WS‘ DmnlM[A U) (‘fx ((’1(‘(“\{\*\\3&
= \Qﬁu\l\
lﬁelnp moMfoOK n'F JDQMMA_JIW

@ gﬂlul—fn{)_—/).
o - 1\l1n.mjaon‘ F\‘p ' »bﬁhk&? 2 bmwﬁ =1 N
phhmﬂﬂnoﬁép/{m Rook 5\f}\m’n o=

—— |

4.7

——

2

4 ream 4l \alord R@nkiln.m z&

S wrgaqy

Jdedhl numbon B‘F bmk& l')mag/{mjr = 1
. Aq4go - £ cﬁ~—1qq:L

By Ty lrhnnnﬂ*hmwcl* 1C1Q'LLJnmlm 1n all

(- Qn\uJ—m—n——/‘r J

- _f_h, ST cu)r("c\ol) | & @

" T\\1wnvmk’{>§lr( s NN i‘[)DS@,Q = 2

- Nemhou 'B’P 'Mmm}o; Ay = &

Numborn  of el =

....O

_Qd:s

—

35

lofo e 0

>
T
I

/

ol e
_0/

=

10. 8] Fﬂuﬁo o0 ﬂigq /Plow@ﬁ(’ c\r7
T\]umhpﬂ b‘r !\JDn V‘J‘ﬁ‘I:QA
foumbor o women Wiscted —
3! T
Numbet of ehildron Visided =

4
£’
<0

-~ 4 ) ' ‘ vl ) \
Tzd o) numher »f ﬂomﬁfe u)m\i»p -H\ 4ho_Rese
WMUALCILLM  — 141: +.309 + 3¢ = 40T ]

WMW@ o wierded
cn_all .

sthe MU T (N

—
A





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

